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R BREREKEE R (FR)
Fudan English Test

Paper One

(HE: ERENERULMSESEF L)

Part 1 Listening Comprehension (20 points, 25

minutes)

Section A (10 points)

Directions: In this section you will hear 3 short talks. At the end of
each talk, vou will hear a number of questions. Both the short talk
and the questions will be spoken only once. After you hear a
question, vou must choose the best answer from the four choices
marked A), B), C) and D). Then mark the corresponding letter on
the Answer Sheet with a single line through the centre.

Short Talk 1
I. A) Individual taste and love for beauty.
B) A desire to express oneself and display one’s wealth.
C) Individual taste and a desire to express oneself’
D) Love for beauty and a desire to impress other people.
2. A) They may be homesick or feel insecure.
B) They are either cold or very sick.
() They may try to attract other people’s attention.
D) They want to protect themselves from physical injuries.
3. A) White.
B) Yellow.
C) Red.
D) Grey.
4. A) Reporter and fashion designer.
B) Husband and wife.



C) Shop-assistant and customer
D) Teacher and student.

Short Talk IT
5. A) New York.
B) Boston.
C) San Diego.
D) Naked City.
6. A) She used to play piano for performance.
B) She used to play guitar at night.
C) She goes to Japan frequently.
D) She has composed a lot of popular music in recent years.
7. A) It is easy to understand. |
B) It has been accepted worldwide.
C) He is not sure whether his music is understood by all.
D) He is not satisfied with the achievement he has made.

Short Talk HI
8. A) A book that recorded a lot of her own dreams.
B) A book that helps other people understand the meaning of
dreams,
C) A book on fortune telling.
D) An academic book on mental problems.
9. A) Be prepared to have a nightmare.
B) Go to bed early than usual.
C) Trv to write something before going to bed.
D) Tell yourself that you want to recall it.
10. A) A dream of being chased.
B) A dream about cats.
C) A dream of an eagle in the sky.
D) A dream of an air crash.

Section B (10 points)
Directions: In this section vou will hear 3 short passages. At the end
of each passage, you will hear a number of questions. Both the
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passage and the questions will be spoken only once. After vou
hear a question, you must choose the best answer from the four
choices marked A). B). C) and D). Then mark the corresponding
letter on the Answer Sheet with a single line through the centre.

Passage I
1. A) He killed himself
B) He was shot by law officers.
C) He fell from the third floor of the police headquarters.
D) It remains unknown.
2. A) Under a place where the British Queen often goes.
B) Near a British navy base.
C) Under a summer resort where ordinary people enjoy their
weekends.
D) Near the southern coast in Flornida.
13. A) White boys.
B) Black bovs.
C) People who suffer from the flu.
D) Elderly people.

Passage Il
14 A) IS5
B) 25.
C) 50.
D) 100.
I5. A) After every exercise period.
B) After the stcp-tests.
C) Every day.
D) Every time the ratio of active riding was incrcased.
16. A) Most pcople do not get enough exercisc.
B) A high pulsc rate is desirable.
() Regular exercisc can strengthen your heart.
D) Everyone should exercise 15 minutes a day.

Passage HI
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18

19.

20).

Part I Reading Comprehension (45 points, S5

A) Philip Morris firm’'s expanding production,
B) Philip Morris firm's pollution of the environment.
C) Philip Morris firm’s anti-smoking campaign.
D) Philip Morris firm’s advertising campaign.

A) Some French biscuit makers.

B) Some American biscuit makers.

C) Herve Gaymard.

D) David Greenberg,

A) Advertising for biscuits.

B) Advertising for alcohol.

C) Comparative advertising,

D) Ambiguous advertising.

A) Smoking 1s beneficial to one's health.

B) Smoking does no real harm to one s health.

C) It 1s trying to improve the quality of its tobacco.
D) The French court did not make a fair ruling

minutes)

Section A (15 points)

Directions: There are 30 incomplete sentences in this section. For
each sentence there are four choices marked A), B), C) and D).
Choose the ONE that best completes the sentence. Then mark the
corresponding letter on the Answer Sheet with a single line

through the centre.

21.

22.

True law 1s right reason nature; it 1s of universal

application, unchanging and everlasting,
A) in the midst of B) in accord with
C) n favor of D) 1n alliance with

The kindergarten in Germany in about 1835, It was
developed by the educator Friedrich Wilhelm August Froebel.

A) derived B) ascended
C) onginated D) terminated



23

24

27

28.

29

10

Today. money fulfills its exchange function very well. The
occasional inconveniences of being unable to cash a check. or to

pay a bus fare with a $10 bill, are when looked at in a
larger context.

A) maximum B) trivial

() wrrelevant D) positive

For some purposes. it may be desirable to measure the output
produced within the geographical area of a nation,
whether the profits belong to residents or foreign investors.
A) despite of B) on the grounds of
C) instead of D) irrespective of

Because unrestrammed discussion would lead to
orderliness 1s of prime importance in the conduct of meetings.
A) chaos B) bewilderment
C) harmony D) consensus

- That evening roving gangs of white teenagers began to attack

blacks in downtown Chicago, and the city erupted in a five-day
race . that ended with 38 deaths. 537 serious injuries. and
widespread destruction.

A) fuss B) maneuver

() deterioration D) riot

Thev found that an individual tends to conform to a
group judgment even when that judgment 1s obviously 1n error.
A) unanimous B) sigular

C) coherent D) versatile

The character armor consists of defensive character traits, like
arrogance or apprechensiveness. that developed in childhood to
painful feelings.

A) turn aside B) ward off
C) break up D) watch over

In 1844, Charles Sturt. a British soldier and colomal
administrator. made an expedition a supposed inland sea.

his party penetrated more than 1 000 miles northward. almost to

the center of Australia.
A) 1n quest of B) with regard to



C) in favor of D) by way of
30. So far as the food industry i1s concerned. the processing of sheep

and lambs 1s relatively in the United States. accounting
for only about 7 percent of meat-packing production.
A) irrelevant B) appropnate
C) neghgible D) redundant

31. Mediation 1s the intervention of a third party in a dispute between
two other parties in an attempt to their differences.
usually upon their request.
A) enlarge B) regulate
C) reconcile D) accomplish

32. Marketing 1s the process by which goods are sold and purchased.
That process may be a simple act of exchange or an

sensitive mechanism.
A) intricate B) obscure
C) evident D) indefinite
33. Unlike industry, in farming increase in size does not necessarily
produce increased cfficiency. farm size varies with
differing crops and locations.
A) Excellent B) Inferior
C) Exceptional D) Optimum

34. Functionalist theory distinguishes between manifest and
levels in the functioning of social institutions.

A) mactive B) competent
C) latent D) adequate

35. Raving been sent to the wrong address. the supplies ordered from
the Acme Company did not arrive until the first of the
vear.
A) on B) since
() after D) at

36. Great progress in the study of space around the sun would be
made that an inter-planetary station were created.
A) supposing B) because of

C) provided D) regardless of
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37 In this African country. more and more women realize that they
can do anything that men are doing. they will demand
equal pay for equal work.

A) It follows that B) That follows
C) What follows that D) It doesn't follow that

38. With some words and others musspelled. the message
was pure nonsense.
A) missed B) missing
() to be missed D) to be missing

39 He a drink for the sake of the drink. but only to know the

kind of life we led in the east!
A) ought not have had B) would have had
C) did have D) would not have had

40. This 1s an 1deal site for the factorv it 18 close to the
sources of supply of the raw materials.
A) mn order that B) in spite of the fact that
() for that D) in that

41. Indoor or roof space antennae do not give satisfactory
performance even in strong signal areas.
A) habitually B) voluntarily
C) mvanably D) truthfully

42. Our regrets at losing his services are. in a measure. by
the knowledge that the post which he now fills is one of the most
important in the commonwealth.

A) conflicted B) offset
() extinguished D) impeached
43. A substance 1s . that is. all parts are alike and show the
same propertics.
A) hierarchical B) exclusive
C) universal D) homogeneous
44 Most objects. even though to visible light. will let the X-
rays through -
A) opaque B) transparent
C) blind D) solid
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45. Many modern language teachers make occasional use of tcaching
aids such as computers and tape recorders, but only a few use

them systematically as an part of therr work.
A) incredible B) individual
C) integral D) associate

46 Then. in his soft. level voice. he will reveal once more the
gift that has made him one of the ablest advocates mn

British legal history.
A) boastful B) eloguent
C) obstinate D) restrained

47 In order to repair barns. build fences, grow crops. and care for
animals a farmer must indeed be
A) expedient B) voracious
() versatile D) prosperous
48 In a drab Senate hearing room witnesses gave the first pubhc
~ last week in the biggest and most brazen financial

scandal of all time.

A) declaration B) assertion
C) testimony D) accusation
49 Kelley's publicists abruptly a planned seven-city

publicity tour. announcing that their “publishing objectives have
been accomplished. ™
A) called off B) called in
() called down D) called on

50. Lawvers have a terrible habit of using Latin and industry
to mystify people and make themselves more valuable.
A) inflections B) dialects
() accents D) jargon

Section B (30 points)

Directions: In this part there arc 6 passages. Each passage 1s
followed by a number of comprehension questions. For each of
the questions there arc four choices marked A). B). C) and D)
You should decide on the best choice and mark the corresponding
letter on the Answer Sheet with a single line through the centre.

I3



